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1ã 
 }¼~¼~_~�{2ÿ²ï/y»2 
 

ò�� 2 2 = �22�� 2 2 
   = 4  

ó¿~t 0 xuz»�±15ÿ�ëwzt2 
 

ó�� + 2��� 2 5� = ��22� + 2
��22� 2 5
  
      = 0 × �27�  
      = 0 

        ó¿~tÿxuz»�±15ÿ�ëwzt2 
 

ò�� 2 7� = �22�� 2 7 × �22� 
     = 4 + 14  

 = 18 
        ó¿~t 18 x\xwr»�±15ÿ�ëwr»2 
 

ó�� + 4�� = �22 + 4�� 
 = 2�  
 = 4 

        ó¿~t 4 x\xwr»�±15ÿ�ëwr»2 
 

2ã 
ÿÿÿ�� = 8       

   � = ±:8 = ±2:2        
 
ÿÿÿ� 2 2 = 01~��1� + 5 = 0p{¹1 

� = 2, 25 
 

3ã 
ÿÿÿ2�� = 24           

      �� = 12       
      � = ±:12      ;:12 = :2� × 3 = 2:3 
      � = ±2:3 

  



 
ÿÿÿ16�� = 5            

      �� = �
��       

      � = ±� �
��      ;��

� = :�
:� ²�v 

      � = ± :�
:��      ;:16 = :4� = 4 

     � = ± :�
�  

 
ÿÿÿ�� 2 3�� 2 7 = 0          

        �� 2 3�� = 7      
        � 2 3 = ±:7   

         � = 3 ± :7  
 
ÿÿÿ�� + 2�� = 9         
         � + 2 = ±:9    ;:9 = :3� = 3  

     � + 2 = ±3   
   � = 22 ± 3  �� = 22 2 3 = 25, � = 22 + 3 = 1�    

� = 25, 1   
 

ÿÿÿ�� 2 5� + 5 = 0                   ;ë~}_� =  �±:�! ��"
�� ²�v 

                � =  � ��±#� ��! �×�×�
�×�     

       � = �±:�� �$
�     

    � = �±:�
�    

ÿÿÿ2�� 2 5� + 3 = 0                   ;ë~}_� =  �±:�! ��"
�� ²�v 

                � =  � ��±#� ��! �×�×%
�×�     

       � = �±:�� ��
�     

    � = �±�
�                                   ;  � = �&�

� = �
� = %

�  1 � = � �
� = �

� = 1     

  ÿ = %
� ,   1 

  



 

ÿÿÿ �� + 4� + 2 = 0                   ;ë~}_� =  �±:�! ��"
�� ²�v 

                � =  �±:�! �×�×�
�     

       � =  �±:�� '
�     

   � =  �±:'
�                 ;:8 = 2:2 

   � =  �±�:�
�    

  � = 2 �
� ± �:�

�               

   � = 22 ± :2    
 

ÿÿÿ 3�� + 2� 2 1 = 0                   ;ë~}_� =  �±:�! ��"
�� ²�v 

                � =  �±#�! �×%×� ��
�×%     

       � =  �±:�&��
�     

   � =  �±:��
�                 ;:16 = 4 

   � =  �±�
�   �� =  �&�

� = �
� = �

% , � =  � �
� =  �

� = 21�                
   � = 21, �

%               
 
 
 

4ã 
 
ÿÿÿ� 2 8 = 01~��12� + 5 = 0 
 w�|sv1� = 8, 2 �

� 
   
 
ÿÿÿ      �� = 15�     

��   2 15� = 0         
 ��� 2 15�    = 0   
           � = 0, 15             

 
ÿÿÿ�� 2 4� 2 5 = 0      

         �� 2 5��� + 1� = 0      



        � = 21, 5    
 
ÿÿÿ�� 2 12� + 36 = 0      

   �� 2 6��  = 0      
       � = 6    

 
ÿÿÿ�� + 6� 2 27 = 0     
     �� + 9��� 2 3�  = 0      

      � = 29, 3    
 
ÿÿÿ�� + 15� + 26 = 0     
     �� + 13��� + 2�  = 0      

       � = 213, 22     
 

5ã   

   (�( %�
� = 27²ë�2 

     (�( %�
� = 27 

   )�) 2 3� = 54   
        )� 2 3) = 54       

  )� 2 3) 2 54 = 0    
  �) + 6��) 2 9� = 0     

   ) = 26, 9    

   ) > 0 p{¹) = 9     �xÿÿÛ� 

  



 

6ã 
ùÿ|ÿ{¹×t�Ýö²� cm xy»20 < � < 8 wr»2 
s~x}1 

ÿB ~ÿuxÿÿ~ÿu�18 2 � cm 
ó�ÿÿÿÿ~÷ŭ�1OÛ�ÿÿÿ~÷ŭ{¹OÛ�ÿÿÿ~÷ŭ²_t�²~wr»2 
 

     ó�ÿÿÿÿ~÷ŭÿ28 
OÛ�ÿÿÿ~÷ŭÿ�

� × 8 × 8 = 32 
OÛ�ÿÿÿ~÷ŭÿ�

� × �8 2 ���8 2 �� = �
� �8 2 ��� = �

� �� 2 8�� 
 
 (OÛ�ÿÿÿ~÷ŭ)2(OÛ�ÿÿÿ~÷ŭ)=(ó�ÿÿÿÿ~÷ŭ) 
  32 2 �

� �� 2 8�� = 28 
 s~_~ë²n±»2 
  32 2 �

� �� 2 8�� = 28    
    �� �� 2 8�� = 4    
     �� 2 8�� = 8    

     � 2 8 = ±:8 = ±2:2    
    � = 8 ± 2:2 

 0 < � < 8p{¹1� = 8 2 2:2 
   
  �x 8 2 2:2 cm 


